=
<

8 S I
= g |
2‘ 810_1:_
g 5 E
1072 C
107
107 -
10’35—
10™ [
o 1w o100} el bl
T = 5 : : .
24 24 r
4 | EERE AR aARNEARARARARRAEARNENAN SRS
095 . . '2 . 095'1 . . .
10° 1 1 -1 10™ 1 1 .1
0 TP poT (PCA tloobeamllnef) 0 TP poT (PCA tloobeamllnef)
—s=— DQM_V0001_R000000001__Global__mkFit10000__RECO
—— DQM_V0001_R000000001__Global__mkFit1000__RECO
= £
2 e
> 3
o 107! 2
35 5

[y
TTTT] T
3
+
iy
TTTT] T
3
+

0.95 :
”) 2 3
10 1 TPlp?T (PCA tjbobeamliné'f)

o p/p.)

,_.
<
L

101 ' ' '2 3
10 1 TPlpg)T (PCA t%)obeamlin%)o



	Contents
	Page 1


